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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the start of the examination, before attempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

*  The serial numbers of test booklet and O.M.R. answer sheet
are same. . '
*  All pages of test booklet and O.M.R. answer sheet arc
' properly printed. All questions from S. No. 1 to last S. No. 100
are printed and pages from S. No. 1 to last S. No. 16 are there
in the question booklet.
In case of any discrepancy/defect the candidate should
immediately report the matter to the invigilator for replacement of

test booklet and O.M.R answer sheet. No claim/objection in this

regard will be entertained after five minutes of start of examination.

Candidate will be liable for it.

3.  Answer all questions.

4. All questions carry equal marks.

5.  Only one answer is to be given for each question.

6 If more than one answers are marked, it would be treated as
wrong answer. :

7. Negative marking is applied, one third (1/3) of the marks
allotted to the guestion will be deducted for every wrong
answer. Wrong answer shall mean an incorrect answer or

multiple answers.. )
8. Each question has four alternalive respanses marked serially

as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POIN'I_' PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any .o'lher
electronic gadget in the examination hall is strictly proht!mted.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per

rule. o
" 10. If there is any sort of ambiguity/mistake either of printing or
factual naturg in Hindi and English version of the question,

the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her posséssion, F.I.R. would be .Iodged
against him/her in the Police Station and he/she would be liable I_o
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/ner permanently from all future examinations of the Board.
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The cost of a car is 400% greater than the cost
of a bike. If there is an increase in the cost of
the car by 15% and that of bike is 20%, then the
total increase in the cost of the 5 cars and 10
bikes is -

(A) 18.25%

(C) 17.5% (0) 163

If o, P are roots of x* —ax + b =0 and

Vo= 0"+ B, then vn+1is equal to -

(A) avn + bv n1 (B) bvn+avn1

(C) bvh—av n1 (D) avp—bv .1

In the given figure, if L1] | Lz, then the values of
X, Y, Z respectively are —

46" - x
20°

9°
| .z 6_ ( "
(A) 36° 36°,08°°  (B) 98°, 36°, 98°

(C) 36°,98°,36° (D) 98°,98°,36°

If we multiply a fractlon by itself and dnwde the
product by the square of its recnprocal the

: . _ 13 -
fraction. so obtained is 3 The original

fraction is -

(A) 4 (B) 16
3 9

(3 (D) 8
3 9

A bag contains one-rupee, 50 paise and 25
paise coins and the ratio of ‘their value is
30 : 11 : 7, and the total number of coins are
480. The number of 25 paise coins are -

(A) 160 (B) 132

(©) 168 - (D) 212

The sum of three numbers is 98. If the ratio

between first and second be 2:3 and between
second and third be 5:8, then the second
number is - .

(A) 30 (B) 48

(©) 20 ' (D) 58
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7 If A takes 4/5 days as B takes and working 7. 9 A, B @ FHA A 475 fas dar @ sy v
together they require 20/3 days.to complete ARG Ul SRR Skl
the whole work. What is the eff\i/ci ‘ i fery 20/3.&7ﬁ P M FTA E (B DI

. ency of B? erdl I £
(A) 8;% (B) 6-2—% (A) gé% (B) (,2%_
(C) 5.55% (D) 16% (C) 5.55% (D) 16%

8. Abhinav leaves Mumbai at 6 am and reaches 8. afrg gag 6 dol Hag A fywern @ 3R
Bangalore at 10 am. Praveen leaves Bangalore 10 99 9eIR U £ WA [ag 8 aol
at 8 am and reaches Mumbai at 11:30 am. At AR A Frperar € 8k 11:30 991 4ag ygddr
what time do they cross each other? g1 9 o 999 T W B IR F¥d 37

"+ (A) 8:56 am (B) 10 am * (A) 9% 8:56 T (B) {q@% 10 T
(©) 9:20 am (D) 8:32 am (C) gag9:20 a1, (D) g€ 8:32 7T

8. What annual payment will discharge a debt of 9. gy wfy g @Y X W 5 Ul H 580 TUA & I
%580 in 5 years, the rate being 8% p.a:? T 'ﬂ'l'[ﬂ'l:fﬁﬁ'\”l qIfies e 4 FI?

(A) 120 - (B) 78 (A) 120 © (B) 78 :
(C) 80 (D) 100 (C) 80 (D) 100

10. The ratio of ages of Krishna and Balram is 3:4. 10. gy 3fR FoRM Bl MG BT I 3:4 %'l EIF
Four years earlier, the ratio was 5:7. Find the AT UBel, T8 YT 5:7 AT| P IR TR
present ages of Krishna and Balram. HI IIAM Y FT BIfTT |
(A) 24 years, 32 years (B) 32 years; 24 years (A) 2499, 32 99 (B) 3294, 24 99

 (C) 15 years, 20 years (D) 16 years, 20 years (€) 15 9, 20 @ (D) 1694, 2099

1. The diameters of two concentric circles are 8 . gy dofesd qoi @ =9 .8 §AL 3R 10 I
::;;nic: -10 cm. The area of the region between 5| g ‘eﬂ?{ & 85 BT SETE & —

(A) 37t cm? (B)  cm? (A) 3r A2 (B) xg#12
(C) 9mcm? - (D) 6m cm? (©) o2 (D) 67 .72

12 |y =7+ 4v3 and xy = 1, then the value of 12 zfy y =7 4 4y3 sk xy=1, @ (‘{_124_%) -
(x—l;_,+3—f;)is-' - R g
(A) 853 (B) 57 (A) 85v3 (B) 57
(C) 194 (D) 7+4v3 (C) 194 (D) 7+4v3

C o 7-443 7-4V3
13. Which of the following is/are prime numbers? 13. f=fofaa 4 | @19 Moy et 8 /57
(i) 241 ' ‘ (i) 241 ‘

(ii) 337 ol (ii) 337

(jii) 391 @ (iif) 391

(iv) 571 (iv) 571

(A) (ii), (i) and (iv)  (B) (i), (ii) and (iv) - (A) (i), (iii) T4 (iv) (B) (i), (i) Ta (iv)
(C) Only (i) and (iii) (D) (i), (ii), (iii) and (iv) (C) aat (i) wa (iii) (D) (i), (ii), (iii) T4 (iv)

14. Find the greatest number which on dividing 14. gg W TS w1 ST difog R 152, 277
152, 277 and 427 leaves equal remainder. 3l 427 BT WFT T UR WRIER @fw T Bl |
(A) 65 (B) 45 (A) 65 (B) 45 - '
(C) 25 (D) 35 (C) 25 (D) 35
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15.

If one diagonal of a rhombus is equal to its side,
then the diagonals of the rhombus are in the

. ratio -

16.

i7.

18.

19.

.(c) Opal

(A) V/3:1 (B) 3:1

(C) v2:1 (D) 21

Which of the following is not a chemical
change?

(A) Ripening of fruits  (B) Digestion of food
(C) Freezing of water (D) Curdling of milk
Which instrument is used to measure number
of revolutions per' minute of the aircraft
engine?

(A) telemeter (B) tachymeter

(C) tachometer () polarimeter

Match the following columns —
Column-i Column-li
(a) Soapsuds - (i) Emulsion
(b) Silt in water (it) Foam
(iii) Sol
(d) Mayonnaise (iv) Gel
Code - .
(A) (a)-{iv), (b)-(ii), (c)-(iii), (d)-(1)
(B) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(©) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
(D) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
Match the following-columns -
Column-!

(a) John Dalton

(b) Antoine Lavoisier

(c) Richter

(d) Gay-Lussac

Column-lii

(i) Law of Conservation of Mass
(ii) Law of Reciprocal Proportions
(iii) Law of Gaseous Volume

(iv) Law of Multiple Proportions
Code - .

(A) a-(iv), b-(i), c-(ii), d-(iii)

(B) a-(iii), b-(iv), c-(ii), d-(i)

(©) a-(ii), b-(iii), c-(iv), d-(i)

(D) a-(i), b-(ii), c-(iii), d-(iv)
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. (C) Vv2:1 X
ﬁgﬁmﬁﬁmmwﬂmﬁmqﬁmhm

g 3 h Jeb i v v
afe Rl a1 8 ff‘ R
& gerR 8, gy R R R R B

=3

8 —

(A) V3: 1 (B) 3:1

(D) 2:1

=7
?A)mqum (B) 9TST9 T e
(©)-ury w7 o (D) G BT e
& g BT Tl fAFre QRQ?HUI Bl
o @ forg fop SUBRYT BT SR i amy
. ,
(i)éf%nﬁa'\f (B) SHIHIEY
(€) dwrieR (D) dremiRHTey
et Rt 1 Ao BT —
i I
(a) TG T B AT T (i) 4T
(b) STt H T (ii) ™14
(c) 3Tl (SferaT UeeR) - (iii) el
(d) FRAIS (iv) Siet
Eb_C:_

() (a)-(iv), (b)-{i), (c)-(ii), (d)-(i)

(B) (a)-{), (b)-{i), (c)-ii), (d)-(iv)

(©) (a)-{ii), (b)-(iv), (c)-{i), (d)-{)

(B (a)-{i), (b}-{ii), (c)-(iv), (d)-{)

Friferfae Brert @t gt B -
DlreidH—I

 (a) S TTeeA

(b) GeIFT SRR
(c) Raex
(d) -
DT
(i) ST @ wReqor 1 Forere

(it}) TR Sraras @t Foyer
(iv) 98 39 &7 frm
I—@ —

(A) a-(iv), b-(i), c-(ii), d-(iii)
B a-(iii), b-(iv), (i), d-(i)
(©) a-(ii), b-(iii), c-(iv), d-(i)
B) a-(i), b(ii), (i), d-(iv)

Scanne d with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

15.

If one diagonal of a rhombus is equal to its side,
then the diagonals of the rhombus are in the

. ratio -

16.

i7.

18.

19.

.(c) Opal

(A) V/3:1 (B) 3:1

(C) v2:1 (D) 21

Which of the following is not a chemical
change?

(A) Ripening of fruits  (B) Digestion of food
(C) Freezing of water (D) Curdling of milk
Which instrument is used to measure number
of revolutions per' minute of the aircraft
engine?

(A) telemeter (B) tachymeter

(C) tachometer () polarimeter

Match the following columns —
Column-i Column-li
(a) Soapsuds - (i) Emulsion
(b) Silt in water (it) Foam
(iii) Sol
(d) Mayonnaise (iv) Gel
Code - .
(A) (a)-{iv), (b)-(ii), (c)-(iii), (d)-(1)
(B) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(©) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
(D) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
Match the following-columns -
Column-!

(a) John Dalton

(b) Antoine Lavoisier

(c) Richter

(d) Gay-Lussac

Column-lii

(i) Law of Conservation of Mass
(ii) Law of Reciprocal Proportions
(iii) Law of Gaseous Volume

(iv) Law of Multiple Proportions
Code - .

(A) a-(iv), b-(i), c-(ii), d-(iii)

(B) a-(iii), b-(iv), c-(ii), d-(i)

(©) a-(ii), b-(iii), c-(iv), d-(i)

(D) a-(i), b-(ii), c-(iii), d-(iv)

130-D ¥

1304087643

1304097643

1304007643 1304097643

15.

Y
<

Y
=

-y
5

y
o

o

Page 4 of 16

. (C) Vv2:1 X
ﬁgﬁmﬁﬁmmwﬂmﬁmqﬁmhm

g 3 h Jeb i v v
afe Rl a1 8 ff‘ R
& gerR 8, gy R R R R B

=3

8 —

(A) V3: 1 (B) 3:1

(D) 2:1

=7
?A)mqum (B) 9TST9 T e
(©)-ury w7 o (D) G BT e
& g BT Tl fAFre QRQ?HUI Bl
o @ forg fop SUBRYT BT SR i amy
. ,
(i)éf%nﬁa'\f (B) SHIHIEY
(€) dwrieR (D) dremiRHTey
et Rt 1 Ao BT —
i I
(a) TG T B AT T (i) 4T
(b) STt H T (ii) ™14
(c) 3Tl (SferaT UeeR) - (iii) el
(d) FRAIS (iv) Siet
Eb_C:_

() (a)-(iv), (b)-{i), (c)-(ii), (d)-(i)

(B) (a)-{), (b)-{i), (c)-ii), (d)-(iv)

(©) (a)-{ii), (b)-(iv), (c)-{i), (d)-{)

(B (a)-{i), (b}-{ii), (c)-(iv), (d)-{)

Friferfae Brert @t gt B -
DlreidH—I

 (a) S TTeeA

(b) GeIFT SRR
(c) Raex
(d) -
DT
(i) ST @ wReqor 1 Forere

(it}) TR Sraras @t Foyer
(iv) 98 39 &7 frm
I—@ —

(A) a-(iv), b-(i), c-(ii), d-(iii)
B a-(iii), b-(iv), (i), d-(i)
(©) a-(ii), b-(iii), c-(iv), d-(i)
B) a-(i), b(ii), (i), d-(iv)

Scanne d with CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

20.

21.

22,

23.

Which of the following statements is/are
correct regarding fats?

(I) Fats are needed for the formation of cell
membrane.

(1) Fats help the body to absorb calc:um fromees
food.

(1) Fats are required to repair damaged
tissues.

(IV) Body cannot re_lease energy in fats as
quickly as the energy in carbohydrates.

Select the correct answer using the code
given -

(A) (1) and (IV) (B) (1) and (1v)

(C) (1) and (1V) (B) Only (1)
Dimensional formula of surface tension is -
(A) [(MILT) (B) [MLiT?

(C) IMILOT?] (D) [MLL2T79]

If the image is upright and diminished and itm
remains upright when the mirror is moved%=

04097643

away from the face, then the mirror is a ..........
" mirror. ™y
(A) concave (B) convex <t
w0
(C) plane (D) Both convex and
plane %
Which one of the following statements is notg
correct? o

24,

(A) The number of neutrons in all atoms of an™
element is always same. o
(B) The mass numbers of atoms of an element«ﬁs
may be different. C-D
(C) The mass numbers of atoms of dlfferentcﬁ*j
elements may be same. o~
(D) The number of protons in all atoms of an2

element is same. hiX

Which of the following is a heterogeneous
mixture?

(A) solution "5"
(B) Suspension

(C) Both solution and suspensmn

(D) Neither solution nor suspension

25. Yeast is an important source of -

@30@09?@4

20.

21.

22.

23.

24,

gur @ a4 =il

P TH B/ 8?

(1) B foreelt & g @
JTgeaEdl S 2

(1) aar 9192 & Hia | sfemad @ g
B Y HaS TR E |

(111) erferasr st cﬁ weRT @ forg 9w @t
MaIEdl Bl 8

(IV) TRR a1 ¥ a?rrn ol W Sl A6l Bre
Fadr [T @ BrEEgge q Sl |

fay 7T wmE &1 FEAT B WEl eoR YHY -

(A) (1) 3= (Iv) (B) (1) @R (IV)

(C) (1) iR (1V) (D) &g (1)
(A) (MILATY] (B) [MLIT]
(C) [MILOT?] (D) [ML2T9)
afy wfafda e @ik ©ier & 3k U &f T8
W @ o I W T A YEAT § AU

Tfeae 19 i W /9

e aar @

.................. TqoT BT B |

(A) 3raaar (B) S

(C) T (D) sF1  Sua 3iY
RELE

ffeRaa weml 8 9 dH—a1 98l T8 27

(A)WWEBWW@ﬁWﬁ
T Fd | Sy &)

(B) fhell o & U=ATORN @ SEE A
A== 8 ot €|

(C) faf= @i @ wRAPRT & sdH ey
A Bl AE § |

(D) frel o & W wREmpl # Werl @
HET WA B §

i & < w1 ve fawify Rsor 7
(A) fder=
(B) feias

(C) facra= o facias g
(D) =1 a1 faera= 3k =1 & feid=

25. e fpet TRl S 87
(A) Protein (B) Vitamin B (A) oI+ (B) faer™= B
(C) Vitamin D (D) Vitamin C (©) faer™a D (D) faerf= ¢
130-D © '
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26.

27.

The word ‘Vaccination’ has been derived from
a Latin word, which relates to -

(A) dog ' (B) horse
(C) cat (D) cow :
Which of the following is not a vector quantity?
(A) Resistance . (B) Impulse

(C) Acceleration (D) Torque

28.

29.

30.

31.

32.

33.

Which of the following is a good conductor of

heat but a bad conductor of electricity?
(A) Mica (B) Ebonite
(C) Copper (D) Gold

Flight of rockets and jet planes is practical
application of the principle of - '
(A) conservation of force

(B) conservation of energy

(C) conservation of linear momentum

(D) conservation of mass

To an observer on lunar surface, during déy
time sky will appear to be -
(A) Blue (B) Orange
(C) Light yellow ° (D) Black
How many properties have been issued
heritage certificates in Rajasthan till April
20227 '
(A) 230 (B) 151
(C) 187 (D) 143
Which policy was approved to develop
Rajasthan as a film destination?
(A) Rajasthan Film Tourism Promotion Policy —
2022
-(B) Rajasthan Film Exploration  Promotion
Policy — 2022
(C) Rajasthan Film Travel Promotion Policy -
2022
(D) Rajasthan Film Screening Promotion Policy
—-2022
Who released the book 'Locust Control in
Rajasthan'?
(A) Ashok Gehlot -
(C) Ramlal Jat

(B) Lalchand Kataria
(D) Murari Lal Meena

130-D €

26.

27.

28.

29, -

e T @ feT ¥ W o oy 5
e 69 & — | '
(A) g ¥ (B) €1 ¥
(C)é?éﬁ@[ (D) T g
ﬁmﬁfﬁgﬁﬁﬂaﬂqwmwﬁr?ﬁb?
(A) wfRRE (B) 3T

(C) =T (D) e

e § & BT GO DT I e, g
Ifpe fagd @1 FATTP 7

(A) HISET (B) TaHISE
- (C) BT N NI
v@emﬁaﬁﬂaﬁmmﬁmﬁm
aaETRE SHFAIT 87 '

-30.

31.

32.

33,

(A) 951 BT GReTIT

(B) GOl T T -
(C) XRge T BT ARETT
(D) gega BT ARETT

<= TaE TR UF TS B, o B FHY Ao
" ferg 9 —
(A) e (B) =T
(C)fﬁiﬁrﬂﬁan ' (D) prell
T 2022 T XSRS # fel fanl uferl
ﬁ?ﬁ%wwaﬁﬁﬁwg@‘s‘?
(A) 230 (B) 151
- (C) 187 (D) 143 _
o B fher SRee & wa A fafd
PR B forg fra ify @1 wod o e
(A)Wmﬁﬁqqﬁmmﬁ%_jozz
Im?ﬁwmﬁﬁﬁﬁaﬁmﬁﬁﬁmgyﬁﬁazmz
(C)W@«Tﬁﬁwqga—am%_zozz
O) RTeI few weifrT s A9
2022 | |
NI H feed) frimor Ry
Ry R geaw
Egmﬁzﬁmﬁ (B) wereic peld
YIRS STe (D) ey et A
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34.

Indi

an women's cricket team captain Mlthah 34. s Afean fhee S a0 aar e v
Raj announced her retirement from all forms of A R fhthe @ I uTRul | AR @
international cricket in - e 9 —

(A) April 2022 (B) June 2022 (A) 31iieT 2022 H (B) 5f1 2022 ¥
(C) July 2022 (D) August 2022 (C) Jarg 2022 # (D) oI 2022 ¥

%. What is the rank of Rajasthan in the list 35 oremé 2022 ¥ AW WYHR EN ‘Sead G
released by the Government of India on 'Utsay TR O g F SRAM BB AT e
Portal'in July 2022? 0
(A) Fifth (B) First (A) T=H (B) B2mH
(C) Second (D) Third (C) frd (D) ?Ffm

3. Which institute . organized the 'Charcoal  36. “GR@IcI ferept e waiv’ @1 ST
Painting Art Exhibition'? | R BRI foar e
(A) Rajasthan Sahitya Academy, Udaipur (A) IToTRerT WTfecd 3ThIGH], SGIYR
(B) Rajasthan Lalit Kala Akademi, Jaipur (B) TuTRer- diferd el S(ehIeH], FAYR
(C) Rajasthan School of Arts, Jaipur (C) IToRATH Whel 3% ATCH, STAYR
(D) Western Region Cultural Centre, Udaipur (D) el & ARPHaD D5, ISAR

37. Rajasthan’s Chief Minister has approved the  37- IGRIM & JEIHAT -] UTHIOT T $HIsdl Bl
proposal to give benefits of RIPS-2019 to Rural REE_2019 & <7 ﬁﬁ IH F ywEE #
Tourism Units. Full form of the RIPS Scheme \ . .
ic - B 3rgAee B 81 Reg o &1 Oof w9 & —
(A) Rajasthan Installment Providing Scheme (A) e e e O
(B) Rajasthan Investment Promotion Scheme .(B) Yo e dieares diorHr
(C) Rajasthan Insurance Promotion Scheme (C) Iroer €T YieaTeT Aret
(D) Rajasthan Inspection Proposal Scheme (D) XTeReE FreT T Do

3. Rajasthan Government signed a Memorandum 38. NIRRT ARER o WRAR . HY
of Understanding (MoU) V;'l:h @ AT ATl gRT FATerd Ugel I8hR &

_ Government Stree Nidhi, T B
................................ ‘ : e ) -
to set up the first all women-run cooperative foa | =Tdq (Q'Hafrq) T B
bank. ! :
(A) Kerala (B) Bangalore (A) e (B) TR
(C) Tamilnadu (D) Telangana. (C) ﬂﬁ'ﬂ?ﬂg (D) T

3. Recently (May 2022) in which district the Chief 39 w11 €1 A (W 2022) ¥ gemwA A b4 1%1?{ |
Minister has approved the proposal to open 3 - 39 9edTe @ier @ TRaT @l q—\;iﬁ % 87
new tehsils? , s 4 : '

(A) Jodhpur (B) Churu | &--_ (A) STergR: (B) T
(€} Banswara (D) Jaisalmer (C) grFaTST (D) STHIER

%0. Rajasthan Domestic Travel Mart (RDTM) was  "40- IoRee SMRes Saa A¢ (QTR.SIELTH.) &
organized in which district of Rajasthan? SIDINES TR & by forer # foram T
(A) Jaipur (B) Chittorgarh (A) SR (B) fireTTe
(©) Bhilwara (D) Udaipur (C) *frerare (D) STAR
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az.

a4,

48,

48.

130-D €

Sun Temple of Ihalawar is also kpown as =

(A) Temple of Kunwari Kanya and Rastya
(B) 5a2as Bahu Temple
(C) Charmukh Temple
(D) saat Satehyon ka Mandir
B
ThE e cEyislative Assembly Constituency
is reserved ré‘:ﬁSchedulcd Tribe.
(B) Banswara

(D) Bhilwara

(A) Udaipmg
(€) Chittorpﬁg

- Uniara painﬁﬁg style is a blend of which styles

of painting?
(A) Alwar and Kota style

(B) Bikaner@d Amer style

(C) Kota an@@mer style

(D) Jaipur apshBundi style’

in which of=he following dance no musical
instrumentgzye used?
(A) Ghoomé&Dance
(C) Ger Dance

(B) Chang Dance
(D) Valar Dance

Which of the following districts area is called

‘Bhomat’?
(M) Barmerdplore and (B) Sikar, Churu and
Sikar O Barmer
(C) Dungargys, (D) Ajmer, Bikaner and
Udaipuadd Sirohi Churu ‘
Which one ghthe following river flows in the
Torawati b#sin?
(A) Gambhiri
(€ Bangangg,

(B) Kakni
(D) Kantli

. Bhim ki Durmgi and Bijakki Pahari are the sites

related to viirth civilization of Rajasthan?

(A) Kalibangdy (B) Bairath civilization
civilizatiz

(C) Ganeshe@r
civilizatiol

(P) Ahar civilization

Which of the following serial of mountain.

peaks is correct as per descending order of
their heights? ‘
(A) Bhairach, Nag Pahar, Babai and Bairath

(B) Babai, Bairath, Nag Pahar and Bhairach

(C) Nag Pahar, Bhairach, Babai and Bajrath
(D) Bairath, Nag Pahar, Babai and Bhairach

41.

42.

43.

a4,

45.

46.

47.

48.
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HEAT 27
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-
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(A) IR (B) @renii

(C) wrorray (D) wTwici! ‘
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631 W A v o 82

(N Frefidm o (B) dRig
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19. place of Jodhpur, famous place for Chhatris and
gardens of ancient kings is - |
(A) Mandore ~ (B) Osian
(€) Luni (D) Jaswant Thada
50. Which of the following is, a Black Buck
Sanctuary?
© (A) Ranthambore {(B) Tal Chhapar
(C) sajjangarh (D) Kumbhalgarh
51, Select the wrong pair - h

((A) Dwarkanath Bhatt — Raag Chandrika

Dang Area

(B) Dalpat — Khuman Raso

(C) Kumbha — Sangeet Raj

(D) Vijaydan Detha — Aasha ghar
52. Which s

Development Programme?
(i) It was begunin 1994-95in 26 blocks of eight
districts. :
(||) Eight districts include Bharatpur, Karauli,
Dholpur, Sawai Madhopur, Kota, Baran

incorrect about

Bundi and Jhalawar.

(iii) 1t is 100% Central Government financed
programrﬁe. .

(iv) Its objective is to bring economic and social

development in dacoit affected areas.

Code -
(A) Only (iii) (B) Only (i)
(©) (i), (iv) (D) (i), (i)

53. Which was the-capital of Harishchandra, the
founder of Pratihar dynasty in Rajasthan?
(A) Bhinmal (B) Merta
(€) mMandana (D) mandore

54. Character Puria is a part of -
(A) Rammat folk drama
(B) Bhawai dance
(C) Gavari dance drama

(D) Jasma Oden dance drama

49. iR 1 AF, SN BhRAT 3 ATl ¥
& SarFl @ forw wirg 8 —
(A) HER (B) anfiyar
(C) ofiT (D) Sivgac oISl
50. fy=fiRae W W BT Brell fRROT ARV E7
(A) RURMIR (B) dTeT BIWR
(C) FowTiTe (D) TG 5
51. rorq g™ gAY — ;g
(A) gRGTIT ¥ — IFT AfGdT 55
(B) gerqe — TATOT Rl -
. -
(C) =T — | I .
(D) fasrge™ QT — JARTER CQ
52. i e Fr FEFH B AR ¥ B W@ IO
37
(i) S YBATT 1994-95 H s et @ 26~¢
yEel # gg o r--
(i) a3 forell ¥ wRagR, HRlell, YR, W
| ©
(iii) TE 100% D& IR ERT ﬁﬁqﬁﬁ SR |
gl | c;lj
(iv) SHET ILIY Tbd waTad &= 7 MRS O
- | S
(A) Paa (i) (B) Sae (i) g?}
(©) (ii), (iv) (D) (ii), (iii) A
53. ORI ¥ UIER 93 @ WRAUS TR DI
RS CIRIE RS I o
(A) AT (B) gan Zg
(C) wugrt (D) HUER : 25
54, gRar qe U R E - =
(A) X S ATTed B &
(B) 'Hiﬂg I Pl ypu

(C) T Ju FIfedT B
(D) ST 3eA Jeu AIfedT 1
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55. Who Was the ruler of Dungarpur during the
revolution of 1857, who helped the British?
(A) Vijay Singh (B) Jaswant Singh Il

(C) Fateh Singh (D) Udai Singh Il

56. Which of the following is nota disciple of Dadu

Dayal Ji? .
(A) Razzab Ji '(B) Garibdas Ji
(C) Laldas Ji (D) Sundar Das Ji

57. Match the following (Maha|—P‘|ace)— '

(a) Mubarak Mahal (1) Dungarpur
(b) Sunehri Kothi (2) Tonk

(c) Reshma Mahal (3) Sikar

(d) Ek Thambiya Mahal (4) Jaipur

Choose the correct code -
"(A) a-(4), b-(3), c-(2), d-(1) .
(B) a-(4), b-(2), c-(3), d-(1)
(C) a-(1), b-(4), c-(2), d-(3)
(D) a-(1), b-(2), c-(3), d-(4)
58. Dhati, a sub-dialect -of Marwari, is spoken in
which region of Rajasthan? }
(A) Barmer (B) pratapgarh
(C) Sikar (D) Bundi
59. Rajasthan is divided into how many Agro-
climatic zones?
(A) 20 (B) 15
©09 @10
60. Maharana Sajjan Singh was given the title of

‘Grand Commander of the Star of India’ by
which Governor General?

(A) Lord Lytton
(C) Lord Rippon

(B) Lord Hastings
(D) Lord Cornwallis
If the Panchayati Raj Institution is dissolved

before the expiry of its term, then its election
should be held-

61.

(A) Within six months of dissolution

(B) Within one year of dissolution
(C) Anytime

(D) Within three months of dissolution

130-D ©
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55. 1857 & il D AR R B Wi,

o forr 3l I JErIr @1 o
J b4 . )
(A; frora RE (B) Srda iz

() TaE e (D) S&a 4z |
55-Wﬁﬁmﬁmﬁm&D;

W

(A) zowrd o (B) T

(C) e il (D) R T )

57. fFrefeifaa @1 e I (m_-\rgm)\
(a) YIRD Aecl (1)m :
(b) TS DIl (2) S
(c) XET e (3) ¥z
(d) TP offgaT Hgcl (4) TR
& Fe BT TI BIGY —

(A) a-(4), b-(3), c-(2), d-(1)
(B) a-(4), b-(2), c-(3), d-(1) | EE;

(C) a-(1), b-(4), c-(2), d-(3)
(D) a-(1), b-(2), c-(3), d-(4)

58. o7, ARATS! B U SU—alell, ST @ (6

& Al o &

(A) TTgiR (B) wamTTe

(©) ¥ (D) e

% NSRRI @1 e ity wee W @
AT 87

(A) 20 (B)is'.

60 W(C)g - (D) 10

e TS Rie B fpey ek s
fAep 3 YR 3ifp gRear @
(A)Fﬁé% (B)?rﬁé%ﬁav
emifém% (0) S e
______________ R @ e, e T
(:) EEu S Bz‘m:TEiSZ%
()ﬁmgwﬁa}_

(C)tﬁqﬁqﬁ 3T
(D)ﬁ%ﬁﬁeﬁq%%?’m
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62. Which of the following pair is not correctly
matched?

(A) Sanga = Guhil (B) Ajayraja — Chauhan
(C) Rai Singh — Rathod (D) Khetri Singh —
Sisodiya
63. ‘kamadiya Panth’ was established by -
(A) Gogaji (B) Pabu ji
(C) Ramdev ji - (D) Mallinath ji

64. Which one of the following pair (Princely State .

— Political Agent), at the time of outbreak of
‘Revolt of 1857, is incorrect?
(A) Bikaner—Captain'J.D. Hall
(B) Jaipur — Colonel Eden ik
(C) udaipur—C. L. Showers E:
(D) Jodﬁpur— Mac Mason
65. Which one of the following is not a Water Fort?
(A) Gagron Fort . (B) Bhatner Fort
(C) Koshavardhén Fort (P) Bhainsrorgarh Fort
66. AtWhich of the following place the Gomti Sagar

cattle fair is organised?
(A) Bundi
(C) Kota

67. Who attacked.chittorgarh during the ‘Second
Sakaa'?
(A) Akbar
(C) Alauddin Khilji

* The main peeth of Naval Sect is in -
(A) Shahpura (B) Sabla
(©) Ren (D) Jodhpur
*: Rajasthan State Environment Policy Was
declared firstly in the year -
() 2012 (B) 2006
© 2010 (D) 2008
O Hydrology and Water Management Institute is

located in Rajasthan at -
~ (B) Bikaner

(D) Kota

(B) Udaipur
(D) Jhalrapatan

(B) Firoz Shah Tuglak
(D) Bahadui‘Shah

(A) Ganganagar
(€) Jodhpur

62.

63.

64.

65.

66.

() g

67.

- 68.

69.

70.

Frefafi 3 <1 wF—w1 g afera T o

(A) wrT — Tfe
(C) wrafRiE — TS

(B) 3eTIRIS — dield

(D) werdl g —
e

HHEfSTT GeI' B R foras @1 of1?

(A) TSI (B) mz[ﬁ N '

(C) IHCgsil (D) Heoi T2l

1857 @ Hig @& sRE (@ Ruaad -

difefeae Toic) @ BITE g, IR §7

(A) zﬁzﬁrﬁf‘{.—?ﬁ@ﬁ S

(B) SR — P $89

(C) SeagX — W1, Tel. ¥

(D) SYR — A A
frefefag 3 & B 91 oial g3 T8l 8¢

(A) TR gt (B) %R &

(C) B g (D) HRISTE Gl
Tt IR Y et @ AT e |
J fora 9 W BT 57

(B) ST

(C) PieT (D) SeRTITEH

e wer @ @ e W ea
3TsHHT fdoam er?

(A) aTpeR (B) fOhxrareme qIeTd -
(C) TS Raesht (D) TeTgR WE
el WYETT B g e Re ® —

(A) eITERT ¥ (B) el #

(C) YT (D) TR

TSR R qaTeReT A wept I b
# aifya @1 78 A7

(A) 2012 (B) 2006

(€) 2010 * (D) 2008

ICRAE H BIgSIAe TS W URNEE
IRIeYe IR § —

(A) TR ¥ (B) dpTR

(C) TR (D) e #
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JOIN TELEGRAM @ emlimemedesstose

71. In which area was Lachhiram known?
(A) Kuchamani Khyal (B) Turra Kalangi Khyal
(C) Hela Khyal (D) Shekhawati Khyal
72. Who is recognized as the folk goddess of Alwar
| region? .
(A) Latiyal Mata (B) Sachchiya Mata
(C) Jilani Mata (D) Sugali Mata
73 Who has constructed Naulakha Baori in
Dungarpur?’ '
(A) Rani Primal Devi  (B) Rani Durga Devi
(C) Rani Champa Devi (D) Rani Padmini
74. According to the 20% livestock census of
Rajasthan, which -district has- maximum
livestock?
(A) Nagaur (B) Bikaner
(C) Jodhpur | (D) Barmer
75. ‘Sei Project’ is related to which of the following
dams? .
(A) Gandhisagar Dam (B) Harike Dam
(C) Jawai Dam (D) Jawahar Sagar Dam
76. Match the following and select the correct
answer using the codes given below —
Minerals Area
(a) Copper (i) Jhamarkotra
(b) Gypsum (ii) Rajpura-Debari
(c) Lead and Zinc (iii) Khoh-Dariba
(d) Rock Phosphate  (iv) Jamsar
(A) a-i, b-ii, c-iv, d-iii  (B) a-iii, b-iv, c-i, d-ii
(C) a-iv, b-i, c-iii, d-ii - (D) a-iii, b-iv, c-ii, d-i
77. \What is the- main function of Harish Chandra
Mathur Rajasthan Institute of Public
Administration?
(A) Training (B) Census
(C) Social (D) Recruitment
Development
78. pansari Haveli is situated in -
(A) Chirawa (B) Dundlod
(C) Tonk (D) Shri Madhopur
130-D €
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Il 87
(A) afeare aire
() foremit Arcn

(B) ufzar s
(D) JFTTEH e

3. GIRqR Reret sirerar artn:ﬁ fara=t amarg?

(B) X1 g1l ©)

(C) I = ar (D) <=1 ufar

RIGRA @ 2091 TYFTOAT & SFRIR, Haifyp

g fa forel # €7

(A) AR (B) ik

(C) SR (D) are*R

wafor &7 :

(A) TRIT AR @i (B) eRa& aqf

(C) STarg et (D) STaTER WIR il

- FrfeiRaa & gafer S ik 1 R

B HT AT BR e IR gFg—

(a) BIR (i) TR BT ’
(b) freer - (i) TR Ay

(c) ST iR ST (i) wWie—adiar
(d) 3 wivee (iv) SR

(A) a-i, b-ii, c-iv, d-iii (B) a-iii, b-iv, c-i, d-if

©) a-iv, b-i, e, d-ii (D) a-jii, b-iv, c-i,

- BRUTE MR YoRe wrow el 99T

Wm?fmggggmg_

(B) ST
©) amIfSTs Ry (), el
(A) Frgrar 3 (B) ggeia A
(©) 2w ¥ (D) = mreigR
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climate is found in Rajasthan i, - ®
(A) Arid Region =~
(B) Hadoti Plateau Region
(C) South-Eastern Region -
(D) Semi Arid Region
g0. In Rajasthan, the festivaland.fairoﬂ(ajnTeej o 80
,,,,,,, JRRN famous. -
(A) Baran (B) Banswara’ 3,
(C) Pushkar (D) Bundi &3
§1. North — South corridor passes from whicigg 81.
district of Rajasthan? - Eg
(A) Dausa (B) Jaipur S’?_
(C) Dholpur (D) Sawai Madhopur
82. Which of the following districts has the largest¥y 82
area of forest? _ ;.ED
(A) Alwar (B) Pratapgarh ES;
(C) Sirohi (D) udaipur g’?
B. The ornament ‘Tadda’ is worn - %% 83.
(A) around waist (B) on forehead = ¥~
(C) around neck (D) in arms RPN
8. How many indigenous languages areag 84.
mentioned in Kuvalayamala? [
(A) 08 (B) 06 E*_:%j
(©) 18 (D) 12 - N
8. Who was elected for Rajya Sabha for maximuﬁ 85.
four times from Rajasthan?
(A) Girija Vyas (B) Gyan Prakash o
Pilania ' %
() Ram Niwas Mirdha (D) Ashok Gehlot IC\)‘—:)
%. The District Collector is a member of whict=2  86.
istrict Co <t
service? CC’;?J
(A) State Civil Service L
(®) Indian Administrative Service
(©) Indian Police Service
(D) Indian Revenue Service
\\\_ -
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. As per Koppen clima

tic classification, the ‘Cwg’

PR @ Terar] TR0 & AW, AT
¥ ‘Cwg' STETY TS SIRH & —

(A) &5 Taer A

(B) BT BRI U¥ |

(C) ferof—gdt wewr

(b) 3rg TP WU H
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Yo wRig 2| :
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oA &7 |
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(C) tieTg (D) ST ARG
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(A) 3R (B) TS

(C) AR (D) SEAR

‘TSI AT UET AT T —
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(C) ot (D) T # |
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87.

Which one of the following (Cattle Breed -AArea
in Rajasthan) is not correctly matched?

~ (A) Rathi— North West

(B) Tharparkar — West
(C) Gir — Middle and South East
(D) Kankrej— South East

87

Crferfera i @ @i (it
o i &) T gpafera it it

(A) IS — IR qfgel

(B) ARIRDR — CECL] I

(©) firx — ezt 3R gfemil ydl

(D) widet — i

frer 1 W i ol J AR T B 5y

88. Who among the following was not a member 88.
of Constitutional Assembly from Rajasthan? R
(A) Hira Lal Shastri (A) ERTeTE TN
(B) J.B. Kriplani (B) o 41 FuaT L
(C) Jai Narayan Vyas (C) S AARTYT AT L3
(D) V. T. Krishnamachari (D) &1, &, FETHER |
89." Jain pilgrimage site Kesarivaji is in which district 89. i efief voret BaRar il SR @ i for
of Rajasthan? ' HFE .
(A) Dungarpur ~ (B) Udaipur. (A) SRR (B) SR
. - (C) Banswara (D) Pratapgarh ~ (C) qigdrST (D) geamaTe
90. \Which of the following pairs of districts is major 00. fymfarRad i & foredl &1 B | JH
producer of Kattha (Acacia Catechu)? (G Pee) BT TG SHED &3l 87 .
(A) Udaipur - (B) Banswara — Baran (A) SegqR — facirgTTe (B) awdreT — i
Chittorgarh . ' : : - .
(C) Bharatpur — Alwar ™ (D) Churu — Bikaner (C) WA — derax  (B) B i
91. Rupahli and Sunhari (Golden) -printing is 91. HUTEel R e (V) Barg IoTeU™ @
famous in which districts of Rajasthan? fhe el & ulRrg 87
(A) Kishangarh, Chittorgarh and Kota (A) frerme, RrieTe 3k BT
(B) Ajmer, Tonk and Banswara.- (B) 3[R, €It MR qivgaTer
(C) Jaipur, Jodhpur and Jaisalmer (C) SRR, SiergR 3f} SRTeER
. (D). Bundi, Pali and Sirohi (D) g2, 9reft 3fik RIS
92. Between which states was the Treaty of 92 IRR P WY (1456 AD) fre wroail @ & &3
Champaner signed (1456 AD)? . ofY? :
(A) Malwa—Mewar  (B) Malwa — Gujarat (A) TTerar — HaTS (B) wrerar — ORI
(C) Mewar — Gujarat (D) Mewar — Marwar , (C) Tare — ToRTE (D) are — WRATe
83. Govardhan Puja/Annakoot Mahotsav s 93. e ] 4
celebrated in-- e N Tﬂf{?ﬁ W/ e HETeqq AT STl &~
(A) Kartik Shukla Paksha A
(B) Ashwin Shukla Paksha :B; ?@;ﬁ S
. : I*T [l Teg
(C) Chaitra Krishna Paksha () 2= Fwr ey
(D) Bhadon Krishna Paksha :
94. Hakim Khan Suri was the Chief General of 04, %:ﬁm N
whose army? ' X et e T STty o
(A) Maharana Pratap (B) Shershah Suri A) TERTOT
(C) Rao Maldev (D) Maharana Sanga EC; 7 WT(‘vl‘;:Tq (B) eRem® ﬁﬁ
P o (D) mgRTOT |
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25.

99,

100,

~ Rajasthan with popula

1aa T —=

~(A) Hydroelectric

which of the following (River —
is not correctly matched?

(A) Sagi — Jaswantpura Hills

(8) Banas — Khamnor Hills

(c) Jakham — Chhoti Sadri

(D) som — Babalwara Hills

Place of origin)

. Who is the author of ‘Marwar Ra Pargana Ri‘

vigat™?
(A) Narharidas
(C) Navin kavi

(B) Muhnot Nainsi
(D) Surat Mishra

. Which of the following statement is incorrect?

(A) Aravalli is the oldest mountain range.

(B) Western Sandy Plain is the residual of ‘

Tethys Ocean.
(C) South — Eastern plateau is the extension of
Gondwana Land.
(D) North — Eastern plain was formed by
_Sindhu River. '

. Which is not traditional source of energy in

Rajasthan?

(B) Solar energy
energy

(C) Atomic energy

Which of the following facts regarding length of

- (D) Thermal energy

rivers is incorrect?
(A) Luni (495 km)
(C) Chambal (1050 km)

(B) Mahi (467 km)
(D) Banas (512 km)

2011, the districts in

According to census =
tion less than one million

was -
(A) Sirohi, Bundi
(C) Only Pratapgarh

(B) Only Jaisalmer
(D) Jaisalmer,
pratapgarh

95.

— grufer i)

frfoRaa ¥ W BRI GEl
Afer El §7

(A) Tl — orerdgRT TETfE
(B) T — WHAR eI
(C) SIRaW — BIE GIES]]

(D) | — aracrarsT ISl

96.

97.

- 98.

99.

'Wﬂmﬂﬁnﬂ'a‘?a@m%—

(A)‘Hﬁﬁm (B)'ﬂ%’“ﬁﬁw

(C) 74 B (D) 3 %

St § W @ A @ e 87

(A)mﬁmgﬂ#fm%l

(B) ufedt Yften e <R FETErT
AP B |

(©) <Rrofi—dl ToR AT 7 B R E

(D)ﬁngamw—u;ﬁﬁm#aﬂﬁﬁm
fpar .|

Wﬂﬁﬁzﬁ‘ﬁwmmmw‘m:@

Efe , '

(A) vt fae St (B) SR ol

(C) TRATT] ol (D) Tdrg St

qﬁﬁﬁamé%wﬁﬁw%%HQQﬁ?
|7 G TTold 87 :

(A) oEi- (495 f5A)  (B) wet (467 fo5AT)

(C) =gar (1050 ) () g (512 o)
100.

SFEORT 2011 @ SFNIR, XORAM H TS
ﬁmﬂﬁm‘mﬁﬁﬁﬁ—
(A) RS, @l (B) ael IR
(C) el U (D)tﬁ'ﬁaﬁ’\’,m
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